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th= Sz A= 25-49-47 1A= 19-38-48 500*500
R = 60 R = 40 -
R = 40
TL = 29.079 TL = 9.172 L= 6.926
CL = 54.156 CL = 18.033 L - 13' 716
SL = 6.675 SL = 1.038 SL = 0 595

1P 1P 1A R TL SL CL 1P X Y
1P11 169-29-07 51-42-54 60.000 29.079 6.675 54.156 73.862 29039.201 -49701.795
1P12 143-39-20 25-49-47 40.000 9.172 1.038 18.033 17.756 28966.579 -49688.316
1P13 163-18-07 19-38-48 40.000 6.926 0.595 13.716 33.645 28952.277 -49677.793
1P14 212-33-04 49-14-57 20.000 9.167 2.001 17.191 74.175 28920.051 -49668.126
1P15 143-51-20 68-41-44 20.000 13.668 4.224 23.979 73.588 28857.528 -49708.036
EP 28798.103 -49664.632

L=6.2m
BF250

300*500 L=0.9m

150A

X Y
G1 28858.931| -49711.343 570.620 396.369 144-35-31
o G2 29182.227 | -49956.843 567.450 405.944 322-47-18
Q. T1 28921.196 | -49666.309 569.476 390.573 131-56-17
2 T2 28950.344 | -49674.287 569.594 30.220 344-41-34
o T3 28968.605 | -49691.958 569.025 25.411 315-56-27
ElNe) T4 29014.542| -49693.996 569.019 45.982 357-27-35
o 29049.843 | -49721.850 568.677 44.967 321-43-30

500*500
600*600

1P14

49-14-57
20
9.167
17.191
2.001

IP15

68-41-44
20
13.668
23.979
4.224
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NO.25

GH=569.56
FH=569.52
5.80 ‘
4.00
0.50
0.78 2.00 2.00 0.5

1:50

3 5

2.0+2.0+0.86=4.86m

12/

As20F 4
M25-0 10
RC40-0 18
EC.12
GH=569.12
FH=569.04
4.50
4.00
0.50 2.00 1.24_0.76
1.50%
E i —
D50,
VU® 150 o
As20F 4
M25-0 10
RC40-0 18

20Km/h
20m 3.0m
20 -13 31 -13 5.1%
15 40 24/ N2
3 45.0cm
10
12 12
347 34.7
45.0 x 0.7 32cm 45.0 x 0.7 32cm
4 x  1.00 4.00 4 x  1.00 4.00
10 x 0.35 350 10 x 0.35 350
18 x 0.25 450 + 18 x 0.25 450
32 12.00 32 12.00
0
32 32
* P.211
* a P.194
6 8114
8114
14 3
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1:100
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Q. 2.00  _|0.86,
‘ '
.5 1.50 s
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Wo 150 o ‘
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| VU® 150 o
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9
62
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——
50.
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62
3.5
0.3
0.0
0.0
0.0
5.86

1.50%

=

os. |
wo 150F

8114

8114

14




SP.13 2.2

2.00 | 1.24 10.76_

0.5

¢

BC.13 2.1

®50.
W 150) 5

GH=569.14 0.0
FH=569.05
0.6

2.2
0.0
0.0
0.2
0.0

5.00

4.00

2.00

5
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FH=569.45
5.30
4.00
.50
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EP
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0.0
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NO.28(No.28+8.0)
GH=571.17
FH=571.11
5.00
4.00
0.50  2.00 2.00 .50
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